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The Pushdown During an RR-Derivation

Idea: Observe a successful run of M|

Input:
* 2 + 40

Pushdown:
('go name))

cNe
5 {:EW
= [o [H

I‘ int
E — E+T° | T!
T — TxF° | F!
F — (E)° | name® | int?

The Pushdown During an RR-Derivation

Idea: Observe a successful run of V%!

Input:

counter x 2 + 40

Pushdown:

(qo)
E — E+T° | T!
T — T+xF° | F!
F = (E)° | name!

The Pushdown During an RR-Derivation

Idea: Observe a successful run of M5!

Input:
* 2440

Pushdown:
(qT)

E — E4+T° | T!
T — TxF° | F!
F — (E)° | name’
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The Pushdown During an RR-Derivation

Idea: Observe a successful run of M5!

Input:
+ 40

Pushdown:
(qo T *int)

E — E+T° | T!
T — TxF° | F!
F — (E)" | name' int

The Pushdown During an RR-Derivation

Idea: Observe a successful run of M5!

Input:

Pushdown:
(g0 B+ 1)

[]
]
Result: :’

@ the pushdown contains sequences of symbols,

[]

EO [

]
in]

[=]
=] [

[1]
[FE

[]

which are already processed prefixes of righthandsides of productions leading to the
topmost few states. — documentation of the processing history

— arighthandside on top of the pushdown is only a handle in the correct historical context
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The Pushdown During an RR-Derivation

Idea: Observe a successful run of /5!

Input:
Pushdown:
(90 E+¥F)
Result:

@ the pushdown contains sequences of symbols,

which are already processed prefixes of righthandsides of productions leading to the

topmost few states. — documentation of the processing history

Viable Prefixes and Admissable ltems

Generic Agreement
In a sequence of configurations of M/

(g0 @, v) F (qoa B, v) F* (q0 S, €)

we call a+ aviable prefix for the complete item [B — ve] .

A — > 0{;/_@

Formalism: use Items as representations of prefixes of righthandsides

Reformulating the Shift-Reduce-Parsers main problem:

Find the items, for which the content of 175’s stack is the{ viable prefix.|..

|-+ Admissable Items |
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Admissible Items

Theitem [B—~yef] iscalledadmissiblefor «ay iff S—LaBuv:

. With a=a1 ... am

9/54




